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PART A: Veeabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

1-  During the ----—------ between arriving at the airport and boarding the plane, we’ll probably
do a hit of window shopping.
1) interval 2) inlervenlion 3) imbalunce 4} inconsisteney

2-  That ugly vacant lot ---—-—-- from the heauty of the necighborhood.
1) depletes 2) derives 3) detracts 4) deviates

3- At first, the Savings Mart didn’t do well, but after it lowered its prices and increased its
advertising, the store began to --—-—---- ]

1) prosper 2) subside 3) arise 4) strive

4-  The movement of clonds may seem to be --—-—-——-, hut scientists know that there is a
pattern to how they move,
I} compatible 2) specific 3) transient 4) random

5  Since my math ¢lass was very difficult for me, T conzider the B that T got for the course
to be a great ————-——--,
1) illusion 2) triumph 3) obligation 4} disapproval

6-  The hardware store sells —-----—-- stones made of plastic that you can open and hide a house
key in. Then vou can hide the key by leaving the “stone™ somewhere near your door.
1) confidential 2) artificial 3) superiicial 4} metaphorical

7-  Rhoda’s budget is so tight that she felt it would be --—-----—- to buy herself even a ten-
dollar pair of earrings.
1) plausible 2) langiblc 3) sullicient 4 extravagant

8-  When the climbers reached the peak of the tallest mountain in the world, they felt it was
a ---—--—-— pecasion and were filled with pride.
1) momentary 2) moribund 3) meticulous 4y momentous

9-  The ramification of committing a murder is to serve a prison sentence even if you
---—--——-- your actiens.
1) implement 2) renew 3) regrel 4) exceed

1~ It iz often an attorney’s job to construe the meaning of a contract and then share that
------——-- with a clicnt and, if nceded, with a judge or jury.
1} justification 2) interpretation 3) transformation 4} condemnation
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PART B: Cloze Test
Dircetions: Read the following passage and decide which choice (1), (2), (3), or (4) best fifs

each space, Then mark the correct choice on your answer sheet.

For 20 years, children have been treated (11) ----——---- all sorts of programs on
television which are supposed to help them hecome better at skills such as reading and
math. ‘These programs have presented (12) ---------- such as counting and recognition
ol letters as nothing but fun, (13) -—----—-—-- by such things as rainbows and jumping
[rogs. (14} -=mmanemm- no unprovemnent in children's abilitics in literacy and numcracy
(15) ———mmmmm- . These [un ways ol teaching such skills don’t seem (o work.

11- 1)in 2) for 3)to 4} on

12- 1) the leaming of skills 2) skills to leamn
3) the skills of learning 4) learning of skills in

13- 1) arc accompanicd 2) Lo accompany
3) being accompanied 4) to be accompanied

14- 1) In spite of 2) But 3) Although 4y Whereas

15- 1) would observe 2) it observes
3) has been observed 4) to be observed

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4), Then mark the correct choice on your answer sheef,

PASSAGKE 1:

Fvidence suggests that Genghis Khan had litle intrinsic interest in invading Tran, Tlig
molivalion was cerlainly notl purcly cconomie, being alrcady occupicd with ongoing
wars with the Chinese and reaping bounty and plunder that would have sufficed for
any Mongol commander.

The contention cannot be dismissed that the Mongol expansion into Persia and
Arab lands was. at least in part, a reaction against the Muslim expansion into Central
Asia and the persceution ol Turks, Mongols and other non-Muslims in the previous
centuries. Thus, when in 1219, members of a Mongol trade caravan were murdered by
the forces of Shah Muhammad II of the Khwarazmian Empire of Eastern Tran, Genghis
Khan was prompted to leave the eastern wars to a trusted general and move west.

Khwarazm was, at the time, the most powerful of the [ranian principalities, having
gained independenee [rom the Seljuks and expanded lands [rom its traditional powcer
base in Uzbekistan and Tajikistan to the Caspian coast in the west and Samarkand and
Bukhara in the east. Genghis Khan had reason to believe that restive elements within
Khwarazm were prepared to support any movement that would rid them of their
unpopular monarch. This support was, however, not to be forthcoming.

The Mongols encountered resislance in both Bukhara and Samarkand and
conscquently sacked them both in 1224, decimaling their populations, only sparing the
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artisans that they considered useful. Balkh. Merv and Nishapur followed in 1221.
From there the Mongols swept across the [ranian interior. leaving a trail of destruction
in their wake. Whole cities were put to the torch and mass killings of women and
children as well as lighting men were common,

16- What does the passage mainly discuss?
1) The history of the Mongols
2) I'be Mongol invasion of [ran
3) Why Genghis Khan invaded [ran
4) [ low (zenghis Khan came to power
17-  According to paragraph 1, before expansion into Persia, the Mongols ------—--,
1) had little ¢cconomie achicyements
2) did not really trust Genghis Khan
3) were already at war with China
4y were not interested in any war
18- Which of the following led Genghis Khan to move west?
1) His thirst [or powcer
2) The persccution of Turks
3) The murder of a Mongol trade caravan
4) His intention to nesotiate with Shah Muhammad LI
19-  The word *“its” in paragraph 3 refers to -------—-- ;

1) independence 2) Khwargzm 3) power 4) base

20- According to the last paragraph, who were more likely to be kept alive by the Mongols?
1) Craftsmen 2) Children 3) Women 4) Farmers
PASSAGE 2:

Bagic 1o any understanding ol Canada in the 20 vears alier the Sccond World War is
the country's impressive population growth. For every three Canadians in 1943, there
were over tive in 1966, In September 1966 Canada's population passed the 20 million
Line mark. Most of this surging growth came from natural increase. The depression of
the 1930's and the war had held back marriages, and the catching-up process began
after 1943, 'I'he baby boom continued through the decade of the 1950's, producing a
population increase ol nearly lilleen pereent in the [ive years [rom 1951 1o 1956, This
rale ol incrcase had been excecded only once belore in Canada's history, in the decade
before 1911, when the prairies were being settled. Undoubtedly. the good economic
conditions of the 1950's supported a growth in the population, but the expansion also
derived from a trend toward carlicr marriages and an increase in the average size of
[umilics. In 1957 the Canadian birth rate stood at 28 per thousand, onc of the highest in
the world.

After the peak vear of 1957, the birth rate in Canada began to decline. Tt continued
falling until in 1966 it stood at the lowest level in 25 vears. Partly this decline reflected
the low level of births during the depression and the war. but it was also caused by
changes in Canadian socicly, Young people were staying at school longer; more
woman were working; voung marricd couples were buying aulomobiles or houses
belore starting [amilics; rising living standards were culling down the sizc of [amilics.
It appeared that Canada was once more falling in step with the trend toward smaller
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families that had occurred all through the Western world since the time of the
Industrial Revolution.

According to paragraph 1, after WW2, Canada --—---—--—-.
1) got involved in another war

2) started accepling immigrants

3) encouraged families to have more babies

4) faced a considerable population increase

The highest rate of population growth mentioned in the passage occurred in -,
1) 1901-1911 2) 1945-1851
3) 1951-1956 4) 1950-1957

All of the following arce mentioned in paragraph 1 as reasons for Canada’s population
growth in the 1950°s EXCEPT ——---—--,

1) early marriages 2) territorial expansion

3) economic conditions 4) a trend toward bigger families

Which of the following is a reason for the decline in Canada’s population in 19667

1) Increasing levels ot depression among people

2) The Industrial Revolution

3) Rising living standards

4) Cold climate

According to the passage, the trend toward smaller families in the Western world began
1) from the Canadian socicty 2} alter the Industrial Revolution

3) due to the depression of the war 4) due to poor economic conditions

PASSAGE 3:

Although only 1 person in 20 in the Colenial period lived in a city, the citics had a
disproportionate influence on the development of North America. They were at the
cutting edge of social change. It was in the cities that the elements that can be
associated with modern capitalism first appeared - the use of money and commercial
paper in place of barter, open competition in place of social deference and hierarchy,
with an atlendant ris¢ n seeial disorder, and the appearance of [aclorics using coat or
waler power in place ol independent erallspeople working with hand tools. "The citics
predicted the future.," wrote historian Garyv. B. Nash . "even though theyv were but
overgrown villages compared to the great urban centers of Furope. the Middle Rast
and China.”

Except Lor Boston, whose population stabilized al about 16,000 in 1764, cilics grow
by cxponenlial leaps through the cighicenth century. In the [ilieen years prior 1o the
outbreak of the War for independence in 1775, more than 200,000 inmigrants arrived
on North American shores. This meant that a population the size of Boston was
arriving every year, and most of it flowed into the port cities in the Northeast.
Philadelphia’'s population ncarly doubled in those years, reaching about 30,000 in
1774, New York grew at almost the same rate, reaching about 23,000 by 1775, The
qualily ol the hinterland dictated the pace ol growih ol the ¢itics. The land surrounding
Boslon had always been poor [arm couniry, and by the mid-cightcenth century it was
virtually stripped of its timber. The available farmland was occupied. there was little in
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27-

28-

29-

30-

the region beyond the city to attract immigrants. New York and TPhiladelphia, by
contrast, served a rich and fertile hinterland laced with navigable watercourses. Scots,
[rish, and Germans landed in these cities and followed the rivers inland. The regions
around the ¢itics of New York and Philadelphia beeame the breadbaskels of North
Amgcrica, scnding grain not only 1o other colonics bul alse 1o England and southern
Lurope, where crippling droughts in the late 1760's created a whole new markel.

According to paragraph 1, the effect of citics on the development of North America was

1) greal despite their small populations

2) ncgligible compared with rural arcas

3) mosty negative in the colonial iimes

4) much stronger than the effect of villages

What can be understood from paragraph 1 about North American cities?
1) Gary. 13. Nash lived in one of them.

2) The first lactorics ol the world appeared there.

3) They were not the biggest cities ot the world.

4) They were home to many independent craftspeople.

A main feature of American cities in the cighteenth century was their -—--——--—-—,
I} stabilized population 2) frequent engagement in wars

3) independence from each other 4} fast rate of population growth
The word “dictated” in paragraph 2 can be best replaced by --—---—--—--,

1) determined 2) prevented 3) improved 1) decreased
Which of the fellowing regions had the least fertile farmland?

1) Philadelphia 2) New York 3) California 4) Boston
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